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(f2Z%11) In my opinion, traveling slow might not be possible due to time, schedule, and
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money constraints. Travelers might only have the chance to travel on weekends, and cannot
take extra holidays for a longer trip. Also, direct flights to certain destinations are not always
available and such flights are almost certainly more expensive. (53 words)

(f#2Z12) 1believe sustainable travel poses several challenges for typical travelers. Packing
light might mean having to give up some comfort and convenience. Recycling requires actively
searching for proper disposal methods or facilities, which could be especially difficult in a new
environment. Also, certain disabilities or health conditions could make walking or biking
impractical. (53 words)

(f2ZHI3) Ithink the principle of “Stay Green” poses a challenge because greenwashing
makes it tricky to identify truly eco—friendly options. Certified eco—lodging may be scarce.
Staying in lodges or homestays also competes with the comfort and privacy of conventional
hotels. Despite these challenges, it is important to practice sustainable principles. (50 words)
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@ |do away with things we no longer need
“ap o o |2 way that works best for them
(BIfE)a way that best works for them, a way that works for them best
® |is what makes us who we are
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